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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Cost of washing 12 kg of blankets = 9 x 12 = $108 

 Undiscounted total cost = 266 + 10 = $276 

 Cost of washing curtains = 276 – 108 = $168 

 Mass of curtains = 168 ÷ 10.50 = 16 kg  

 
 
 
 
 
 
 
 
 

Ans:  16 kg 
 
 

 

 
7. 30% of run  4200 m 

 10% of run  4200 ÷ 3 = 1400 m 

 100% of run  1400 x 10 = 14 000 m 

 Time taken = 20 + 60 = 80 min 

 Average speed = 14 000 ÷ 80 = 175 m / min 

 

  

 

 

 

 

 

 

Ans:  175 m / min 
. 
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8. a) 

 Naya’s age = 2k - 3 

 b) 

 Lydia’s age now = 16 – 5 = 11 

 Naya’s age = 2 x 11 – 3 = 19 

 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  (a)  2k – 3 

(b)  19 
 

 

9. Percentage of chocolate and kaya buns sold = 
35

100
  + 

9
20

  = 
35
100

  + 
45

100
  = 80% 

 Percentage of blueberry and vanilla buns sold = 100 – 80 = 20% 

 20%   88 

 100%  88 x 5 = 440  

 

 

 

 

 

 

 

 

Ans:   440 buns 
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10. a) 

∠b and ∠c   are obtuse  

 b) 

 ∠a = 90 – 42 = 48 

 ∠d = 180 – 74 – 48 = 58°    

Ans:  (a)  ∠b and ∠c   

 (b)  58°    
 

 

 

11. a) 

 
1
4
  of total paper cups  Week 3 paper cups  180 

 Total paper cups  180 x 4 = 720 

 Week 5 paper cups = 720 – 200 – 80 – 180 – 140 = 120  

 b) 

 Week 1 paper cups = 200 

 Percentage of Week 1 paper cups = 200 ÷ 720 x 100 = 27.78% 

         

Ans:   a)  120 

 b)   27.78% 
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12. Ratio of number of adults to number of girls to number of boys  11 : 7 : 4 

 Ratio of buttons of adults to girls to boys  11x 10 : 7 x 5 : 4 x 4 

  110 : 35 : 16  110u : 35u : 16u 

 110u + 35u + 16u = 161u = 3381 

 u = 3381 ÷ 161 = 21 

 Number of buttons for adults = 110 x 21 = 2310 

 Number of adults = 2310 ÷ 10 = 231 

 Number of buttons for girls = 35 x 21 = 735 

 Number of girls = 735 ÷ 5 = 147 

 Number of buttons for boys = 16 x 21 = 336 

 Number of boys = 336 ÷ 4 = 84 

 Total number of participants = 231 + 147 + 84 = 462   

 

 

 

Ans:   462  participants 
 

 

13. a) 
 Volume in container A = 25 x 60 x 18 = 27 000 cm3 
  

b) 
 Height of water in container B = 18 x 2 = 36 cm   (as base is half) 

 Additional water to fill container B = (42 – 36) x 25 x 60 x 
1
2
  = 4500 cm3 

 

 

 

 

Ans:   (a)  27 000 cm3 

 (b)  4500 cm3   
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14. a) 

60%  66 – 12 = 54 

 10%  54 ÷ 6 = 9 

 100%  9 x 10 = 90 

 Total number of stickers = 90 

 b) 

 Number of stickers Lisa had at first = 0.2 x 90 = 18 

 At the end total stickers = 90 x 1.10 = 99 

 Additional stickers Lisa bought = 99 – 90 = 9 

 Number of stickers Lisa had at last = 18 + 9 = 27 

 Ratio of number of Lisa’s sticker to total = 27 : 99  3 : 11 

 

 

 

         Ans:  (a)  90 

          (b)  3 : 11 
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15. Let total number of tickets = 15u    (multiple of 3, 5) 

 Number of tickets Kamal sold = 
1
3
  x 15u = 5u 

 Number of remaining tickets = 15u – 5u = 10u 

 Number of tickets Larry sold = 
2
5
 x 10u = 4u 

 Number of tickets Muthu sold = 10u – 4u = 6u 

 Ratio of number of Kamal, Larry and Muthu’s tickets  5u : 4u : 6u  

 Ratio of sales of Kamal, Larry and Muthu   5u x 13 : 4u x 8 : 6u x 8 

  65u : 32u : 48u 

 Difference between Muthu and Larry’s sales = 48u – 32u = 208 

 u = 208 ÷ 16 = 13 

 Total sales = 65u + 32u + 48u = 145u = 145 x 13 = $1885 

   

 

 

 

 

         Ans:  $1885  

      
 
 
 

16. a) 

∠LCH = 180 – 138 = 42° 

 ∠BCD =  146 – 42 = 104° 

 ∠ABC = 180 – 104 = 76° 

 b) 

 ∠DLE = 180 – 42 – 90 = 48° 

 ∠DEL = 180 – 48 – 48 = 84° 

         Ans:   (a)  76° 

 (b)  84° 
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17. Radius = 10 ÷ 2 = 5 cm 

 Area of circle = π  x 5 x 5 = 25π  cm2 

 Area of large square = area of 4 triangles = 4 x 
1
2
 x 5 x 5 = 50 cm2 

 Area of medium square = half of large square = 50 x 
1
2
  = 25 cm2 

 Area of small square = half of medium square = 25 x 
1
2
   = 12.5 cm2 

 Shaded area =  (25π – 50) + (25 – 12.5) = 78.5 = 41 cm2 

 

 

Ans:  41 cm2 

 

 
 


